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C4.4 #8

Find the critical points of j(2) and use the Second Derivative Test (if possible) to
determine whether each corresponds to a local minimum or maximum. Let

f(@) = e

%
Note: The function exp is another name for exponential function with base e. Thus,
exp(t) = €. '
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You must enter your critical points in ascending order.

Critical Point 1 = | EEE.E is what by the Second Dgfi\:(a}_tive
Test, ? | |7 | sl #
Critical Point 2 =| & | Is what by the Second Derivative
Test 7 T T |

i}
i

Crithced @mt&""t | FI("I'JCJ
n c(} s MLA[/%« a¥' )X
Y r X

{'(x/ = 16" 47 (;_zx)e'z
= (‘1- Zx‘) €-x

( 2
fliroof |-2K°=<






| 2
gwyl 7@61\»( e,




5.3 and 5.4 #6

Write the integral as a sum of integrals without abSolute values and evaluate:

Jis | cosw | da = & |







5.3-5.4 #15

Let the function F' be defined by

s /_ 7 (t+ 2)t — 10) e * dt.

Give the largest interval(s) for which F' is decreasing.
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Give the largest interval(s) for which I is increasing!

If there is more than one interval, separate the intervals with a comma. Enter NONE if
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5.5#5

A particle moves in a straight line with velocity 12 — 2t ft/s. Find the total |

displacement and total distance traveled over the time interval [0, 8].
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Displacement: ﬁ . t.
A

Distance: - f it
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5.6 #2

Evaluate the indefinite tgal/AU\,J" ‘ClleMIﬂ(

(Use symbolic notation and fraction where needed.)
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0.8 #4

Find the solution to

satisfying

y=|



D6.1 #1

The region between the graphs of f(m) z? + 3 and g(=) = —2 + 3 has area
! 3 E8 | square units.
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